

$$g'(n) = (\tan^2 n + \sqrt{2} \cos n)' \cdot F'(\tan^2 n + \sqrt{2} \cos n)$$

$$g'(n) = [2 \tan n \cdot (1 + \tan^2 n) + (-\sqrt{2} \sin n)] \cdot F'(\tan^2 n + \sqrt{2} \cos n) = \sqrt{3}$$

$$\xrightarrow{n = \frac{\pi}{2}} [2 \cdot (1+1) + (-1)] \cdot F'(2) = \sqrt{3} \Rightarrow F'(2) = \frac{\sqrt{3}}{3}$$

۱

$$(F - 2g)'(\frac{\sqrt{2}}{2}) = \frac{(-\cos n)(-\cos n + 2)}{(2 - \cos n)} \xrightarrow{n = \frac{\pi}{4}} (-\cos n)'(\frac{\sqrt{2}}{2}) = \sin(\frac{\sqrt{2}}{2}) = \frac{1}{\sqrt{2}}$$

۲

$$F'(n) \xrightarrow{n \rightarrow (\frac{\pi}{2})^-} (\sin n - 2) \sqrt{\tan n} \rightarrow -2 \sqrt{\tan n} \xrightarrow{n = \frac{\pi}{2}} F'_-(\frac{\pi}{2}) = -2\sqrt{2}a$$

$$F'(n) \xrightarrow{n \rightarrow (\frac{\pi}{2})^+} (\sin n - 2) \sqrt{\tan n} \rightarrow 2 \sqrt{\tan n} \xrightarrow{n = \frac{\pi}{2}} F'_+(\frac{\pi}{2}) = 2\sqrt{2}a$$

$$2(2\sqrt{2}a) = 2\sqrt{8} \rightarrow 2\sqrt{2}a = 2\sqrt{8} \rightarrow 2\sqrt{2}a = 2\sqrt{4} \rightarrow 2a = 2 \rightarrow a = 1$$

۳

$$\begin{cases} F(x) = -ax + 2 \\ F'(x) = -a \end{cases} \rightarrow \begin{cases} F(x) + F'(x) = 1 \\ -ax + 2 - a = 1 \\ -ax = -1 \rightarrow a = \frac{1}{x} \end{cases} \quad y = -ax + 2$$

$$F'(x) \rightarrow -\frac{1}{x}$$

۴

$$\frac{an-1}{n+1} = \frac{\Delta+n}{V} \rightarrow Van - V = n^2 + 17n + \Delta$$

$$n^2 + (17-Va)n + 17 = 0$$

$$\Delta \geq 0 \rightarrow (17-Va)^2 - 4 \times 1 \times 17 = 0 \xrightarrow{\text{تکامل}} a = \frac{2}{V} \leq a \leq 8 \rightarrow 00$$

۵

$$F'(n) = cn^r + a$$

$$\begin{array}{r} -r_2 - b_2 - \wedge \\ b_2 - 17 \end{array}$$

$$b - a = -14 - (-12) = -2$$

$$\lim_{n \rightarrow 0} \frac{F(n) \cdot F'(n)}{(1 - \cos n)^m} = \lim_{n \rightarrow 0} \frac{\alpha^n \cdot \frac{\gamma n \alpha^{n-1}}{r}}{(1 - \cos n)^m} = \frac{\alpha^n \cdot \frac{\gamma n \alpha^{n-1}}{r}}{\frac{n^r}{r}}$$

$$\rightarrow \lim_{n \rightarrow 0} \frac{\gamma n \alpha^{n-1}}{n^r} = \frac{\gamma n \cdot \alpha^{n-1}}{n^r} = \frac{\gamma \sqrt{r}}{\alpha^r} \rightarrow \frac{\alpha^{\sum n-1}}{\alpha^r} \xrightarrow{\frac{\alpha}{\alpha^r}} \frac{\alpha^{\sum n-1}}{r} \xrightarrow{m \geq \frac{\sum n+1}{2}} \frac{\gamma m+29}{\sum}$$

$$\gamma n \alpha^r = \gamma \sqrt{r} \rightarrow \left(\frac{\gamma m+1}{\sum} \right) \alpha^r = \gamma \sqrt{r} \rightarrow \frac{(\gamma m+1) \alpha^r}{m(\gamma m+1) + r^m} = \frac{\gamma \sqrt{r}}{\alpha^r} \rightarrow m \geq \frac{\sum n+1}{2} \rightarrow n \geq r$$

$y = \frac{\sqrt{n}+1}{\sqrt{n}-1}$ $F'(n) \Rightarrow y \sqrt{n} = y \sqrt{n}+1 \rightarrow (y-1)\sqrt{n} = 1+y \Rightarrow \sqrt{n} = \frac{1+y}{y-1}$
 ~~$n = \left(\frac{1+y}{y-1}\right)^2$~~
 ~~$y = \left(\frac{1+y}{y-1}\right)^2$~~
 $F^{-1}(r) = 0 \rightarrow F(0) = r \rightarrow \frac{\sqrt{n}+1}{\sqrt{n}-1} = r \rightarrow n = 9$ or $n = 9$ or $n = 9$
 $F^{-1}(n) \rightarrow \frac{1}{F(n)} = \frac{1}{F(9)}$ $F'(n) = \frac{-r}{(\sqrt{n}-1)^2} \times \frac{1}{\sqrt{n}} \xrightarrow{n=9} F'(9) = -\frac{1}{15} \rightarrow \frac{1}{F'(9)} = -15$

$$\frac{F(0) - F(-1)}{0 - (-1)} = \frac{1 - \Lambda(1-a)}{1} = \Lambda a - V = -11 \rightarrow a = -\frac{1}{\Lambda} \rightarrow -\frac{1}{\Lambda a} = 11$$

تغییر نظای $n \rightarrow 1$ $\rightarrow f'(n) = r(n^r + 1)^r (r n) \left(-\frac{1}{r} n + 1\right) + \left(-\frac{1}{r}\right) (n^r + 1)^r \xrightarrow{n=1} f'(1) = 1$ 9

$$\frac{\begin{array}{l} \text{آهسته حد پ تابع} \\ F(n) = \sin n \cos n \end{array}}{\begin{array}{l} \text{آهسته حد پ تابع} \\ g(n) = \sin^2 n - \cos^2 n \end{array}} = \frac{\frac{F(\frac{n}{r}) - F(\frac{n}{s})}{\frac{n}{r} - \frac{n}{s}}}{\frac{g(\frac{n}{r}) - g(\frac{n}{s})}{\frac{n}{r} - \frac{n}{s}}} = \frac{\frac{1}{\sin \frac{n}{r}} \overset{-1}{\cos n} - \overset{\frac{\sqrt{r}}{r}}{\sin \frac{n}{s}} \overset{0}{\cos \frac{n}{r}}}{\frac{\frac{n}{r} - \frac{n}{s}}{(\sin^2 \frac{n}{r} - \cos^2 \frac{n}{r}) - (\sin^2 \frac{n}{s} - \cos^2 \frac{n}{s})}} = -1$$